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(b) Following is the capital structui'e of XYZ Lud:

Equity share capital : :
(face value Rs. 10 each) Rs. 15,00,000
8% Debentures (face value Rs 100) .‘ " Rs. 4,00,000
Rs. 4,00,000 -

Rs. 7,00,000

12% Preference shares (face value Rs. 100)
__———,———
Rs. 3000000

10% Term loan

end of Rs. 3 per share last

The company paid a divid
expected to grow at 5% per

year. The dividends are
annum. Tax rate applicable to the company is. 30%. -
All securities are traded in the capital market and the

recent market prices are:
Equity Sﬁares‘ ' " Rs. 15
Debentures Rs. 80
Rs. 100

Preference Shares

Find out the weighted average cost of capital using ’

market value weights.’
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10% aafers T 7,00,000
P.T.O.

bl



& A
T 0% ¥ g T AL
; eﬁ:h? wmwj;fﬁwﬁw
fé-@a.{ 15 ®o i
BmT‘TR - 80.%0
I gy 0
TR e T T T 3
oo | T g
D Profit g Or (Sreray) Y
Maxjm: Sation jg
Wq‘mlsanon Do You ? better Criterjon than wealth

g its j
debe mtel' :
" sh Htlres. The t;.x °* liability of Rs. 1,20,000 on 12%
areg of Rs . | rate is 30% Th PPAVS ]
AMoypg " U each ; + The number of equity
to Rs, | 00,'. s 8OjOOO and retained earnings
' The Company proposes to take

Cme for
. W i
compally Is a‘ntiCipat Which a sum of Rs. 4,00.000
Wil] pe able ¢, | that after expansion, the
- ac

hi
Al presen; - leve the same return OF

funds 1, equired for éxpansion

throy
gh d
"y shareg ,. ebt at the rate of 12% or by

7
. atp

ar. y,
ou . .
6 are required to:

. (i) Compute the earning per share, if:

* the additional funds were raised as debt

1 futids were raised by issue of equity

* the additiona
shares ’ )

(ii) Advise the company as © which source of vﬁnance .
is 'preferable. ‘

e 19% A R T 120,000 ¥ & =T

TfeT @ Q@ FA B I 3,00,000 €0 s T
W%lmaﬁaso%-%r 1osoia1€rgﬁaa°rm
% W 80,000 & ST T et B R 12,00,000
o 3wl e AT # e
Rraas Rrg 4,00,000 ao'aﬁmsﬁiﬁl g

2 fog o @ 12% BRI
mm%maﬂaﬁﬂ“

P.T.O.



| 3. (a) E . '
oo Xplain ' b
ﬁl?aqcial decision me value of mon

- Rfir fnfy a3

®)T -
i W9 Compapje, X ang

’ ey’iﬂ

Making,

T H B e o e @

. _ 4

class, ‘Th'ey h Y belong to the same risk
. . Aave eye

fi . ryt

lnn Y has 12,54,

- ng: l'llfol’maltion

you: '

d
ebentures of Rs. 12,00,000. Follo

abo .
Out the two firms is available ©

a'?iculars
Net anecs. X Y
1 . raung mCOme
2'5% Detk RS. 3900,000 RS. 3300’()“)
By | 00,000
A " Capitatizagiy, - Rs. 12,00,
ate '
- Chleulage gy 0.15 0.16
- Modiai- Value of tw, 7 \
°d181iani.M’i O firms and explain how ﬂnde

. €r a: : L
Bty shapes “PProach-an investor who own$ 10%
SWitching ;. " © OVervalued firm will be better O
w oldip .
hen Arbitrige Proc € 10 the other firm. Also explal” B

TOceg . .
S Will come to an end.

; X ,
TR ¥, W g a7
Ty, TG e e g
W gy o 0 B0 B 2t
6 P W 12 Remery &1 ST

hing in common except that

£

" (a) Discuss the main decisions W

faer x . Y
o v @ 3,00,000 T :3,00,000 %o

| 12.5% RATR - 12,00,000 B
frd Pl R 015 0.16
2 et o e R A o T BT B
e e ARRT-Rre ST & Sl 6 PR,
‘m-mm'mﬁ%m%mw%
e S ARt o o AT A g0 o SR
2 . .. . H
o Or(a‘ﬂﬂl)‘ o \
hich are taken in financial

management. o .
iy wr e o A yor Poldt R
PR | 4

(b) The capital structure of Greaves Ltd consists of the

folldwing: )
Equity shares of Rs 10 each
10% Preference shares of Rs 100 each
129 Secured Debentures of Rs 100 each Rs. 20,00,000

Rs. 40,00,000
Rs. 30,00,000

The net sales. for the company were Rs 1.6 Crorés. EBIT

is estimated to be 10% of sales. Corporate tax rate is

40%. Fixed cost is estimated to be Rs 50,00,000.
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The following are the estimates of different credit -

- policies:
Credit Average “Increase in BﬁH
policy Collection Period . Sales - debts
A 60 days  RsS50,000 2%
B 95 days Rs 80,000 3%
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